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A3t 16 23660 23660
1 i L2 76 AERREER L 1 894 37.5 20% 894 15 5%, 20%
2 THE B 73 AN EER A 1 1438 32 60% 1438 S 1
3 = = 74 AERBEER A 1 1438 32 60% 1438 S 1
4 W8\l B 70 SUREER A 1 1438 32 60% 1438 S 1
5 EoLH E 70 SUREER A 1 1438 32 60% 1438 S 1
6 e 3 72 AENREERA 1 3137 32 90% 3137 S 11
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8 A L3 68 “BEMNEERA 1 741 32 10% 741 15 5%10%
9 B 4% A k-2 71 BANREER L 1 1021 38 30% 1021 15 5.30%
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11 % A = 73 BEANREER A 1 1438 32 60% 1438 S 1
12 P Al = 69 BEANREER A 1 1438 32 60% 1438 S 1
13 B E S 69 WENEER2S 1 1438 32 60% 1438 1% 5%.60%
14 A k2 75 AFTHREREZER 2 1 1438 32 60% 1438 S 1
15 B X% 2 72 HOHEE RS 1 894 37.5 20% 894 15 5%, 20%
16 W iE k2 74 WENREERS 1 894 38 20% 894 15 520%




